Fractions Simplifying fractions. Prime factorize, then cancellation may occur! Numerator —— s |
Essentially a statement of division e.qg. o
divide a pizza into six equal slices E 6 _ 2x7x2x3 — 2% 2% ng d
- 3 7 3x7 Denominator — 7
Adding fractions. Multiply by one (e.g. 3/3 or 7/7) to . .
make the denominator the same Continued fractions
1 1 1 1 1 3
2 6+7 1 = = = =—=—
Multiplying fractions -t 5 S l+ I I 14+ 4.1 4.2 3.2 55
1+1 3 73 33 3
5 2_5<2 10 axc_ac a c a c ad +cb
-X5 X = +
773" 7x3 " 21 b d bd b d b I+d= bd Golden ratio
1+4/5 1
Reciprocals _ _ _ _ ¢= 5 =1+ 1
- 1+ a_ i _Db Subtracting fractions. Same method as adding fractions. 2 1+
3 _13 _(3) 5 b a/b T a Subtracting is essentially ‘adding with negatives.’ o1 1 14 1
S_qys=[2] 22 14z
5 3 1 2.1 2051 10 3_ 7 y 1+%
ay .k 3 5 3] #—¢-1=0 1+
b a 1+....
ad —cb
B_E b *X bd 1
Dividing fractions — same as V2 =1+ 5 1
multiplying by a reciprocal Converting a recurring decimal into a fraction op L
3.5 3,113 a.c_ad_adl | y_03-0.33333333... X =6.7 =7.77777777.... ) 2+
7711 775 35 b d b c bc 10x =33 10x = 67.7 ‘E=1+ﬁ+1
~10x-x=3.3-03 - 10x-x=67.7-6.7
Converting mixed fractions to top 9x =3 9x =61 2 = V2+1+1 - V2 +2 - \/E(lJM/E) -2
heavy fractions and vice versa RV Y 61 5447 P2 +1 J2+1 J2 1
X =3 L8 _l6z
35 _3x Z 5 21+5 26 9 9 9 %
A —1 x=1:23-12323232323 0.456745674567 = 0.4567 T g
» x=0. =0.
57 _55+2_5 2_., 100x =123.23 6+ 52
5 5 5 g 5 100 12353193 10,000x = 4567.4567 6+—72
AT XEAESES L 9,999x = 4567 6+
99x =122 = 9
LX= 9999 6+
x=2-1B 6+.....

Mathematics topic handout: Fractions Dr Andrew French. www.eclecticon.info PAGE 1


https://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwi-kpav6efSAhWqK8AKHWbHCpwQjRwIBw&url=https%3A%2F%2Fquizizz.com%2Fadmin%2Fquiz%2F56cf70fa635419c867fc78fd&bvm=bv.150120842,d.amc&psig=AFQjCNHVZZOYP81MyRi88UR5cua4bpNFng&ust=1490193440922167
http://www.eclecticon.info/

